Note Taking Guide - Episode 402 Name

An object will in the direction of
the net exerted on it.

Conclusions from experiment:
Ila " o
"Fret" and "a " are

Ila 1] a
"m" and "a" are

Newton's 2™ Law:

e Whena is exerted on a object, the object
in the of the :
. is directly proportional to and

proportional to mass.

equation for the law:

Fret and a are in the same . (Show this with arrows: Fpet=ma)
Insert units for "m" and "a " Fret = X
1 N = force required to accelerate a mass of 1 1—

In fundamental units, N =

Problem Set #1:
1.
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How are weight and mass related? Fret =
Fw =
F =t
= MX =
W —%2 %z

Problem Set #2:
1.
2.
3.

A bowling ball weighs 48 N. With what net force must it be pushed to accelerate
it at 3.0 m/s??

During a throw, a pitcher exerts a force of 19 N on a ball weighing N.
Q) What is the ball's acceleration?
b)  The ball moves m before the pitcher releases it. With what speed

does it leave the pitcher's hand?

Show What You Know:
1. 2. 3. 4. 5.
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